Sindhi High School, Bangalore.
Half-Yearly Examination -(2024-25)
Subject-English- Langnage And Liferatare

Grade V11 Magimom Marks: 80
Date: 25/9/2024 Timings : 8.00 Am-11.15 Am
No. of sides: 7 Reading Time: 8.00-8.15 Am

Writing Time: 8.15-11.15 Am

Instructions :-

1. This paper contains three sections
Section A :- Reading 20 Marks

Section B :- Grammar / Writing 20 Marks
Section C :- Literature 40 Marks

2. All questions are compulsory.
3. Do not exceed the prescribed word limit while answering the questions.

I. Read the following passage and answer the questions that follow-(1x10=10m)
I I One of the great values of punctuality is that it gives discipline to life. We have to get up

on time. We have to do things at the appointed time. They entail certain amount of sacrifice. It
dispels laziness and removes our ‘take-it-easy attitude’. A disciplined person always gets
recognition and social acceptance. He is wanted and appreciated. Therefore, punctuality can
make us socially acceptable people.

II Another significant merit of punctuality is that it provides ample time to do our work
correctly and properly. Doing things hurriedly or haphazardly can have disastrous
consequences. When we do things in time there is every chance that they end up as fine works.
III The goodness of punctuality is said to be the key to success. Look at the great world leaders
who have achieved fame and success. Punctuality was their hallmark. They kept their promises.
Punctuality is a quality that is appreciated by all. Washington once took his secretary to task
for being late. The secretary laid the blame upon his watch. Washington reported: “Then, Sir
either you must get a new watch, or I must get a new secretary.” People like them are ideals
whom we should follow in earnest.

IV When individuals are not punctual, they cause a lot of inconvenience to others. People have
to wait for them and waste their valuable time. The lack of punctuality reveals lack of culture
and is discourteous to the person we fail. Unpunctuality invites trouble and worry. History is
full of cases which show that lack of punctuality has caused defeat, loss of kingdom and golden
opportunities. It is said that Napoleon lost the battle of Waterloo in 1815 because one of his
generals came late. Many people lose good opportunities of job or promotion when they reach
late for appointment.
V All of us are not born with punctuality. We have to cultivate it painstakingly. Only constant
vigil and practice can implant this virtue. It calls for great deal of sacrifice. It calls for courage
to root out laziness and the ‘take-it easy attitude’. It demands a disciplined life. That is why
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very few individuals have the virtue of punctuality. But, know it for certain that it is the surest

way 10 Success.

1) What are the advantages of being punctual? (1m)
a) Punctuality destroys the discipline of life

b) Punctuality entails a lot of sacrifice.

¢) Punctuality helps 1o gain acceptance and recognition

d) Punctuality teaches us a ‘take it easy’ attitude.

2) What happens when we work punctually? (Im)

3) Which statement among the following is not mentioned about punctuality in the given
passage? (Im)
Punctuality is the key to success

Punctuality is a virtue that is appreciated by all

Punctuality is an inborn habit

Punctuality roots out laziness

4) Cite one example from the passage of how unpunctuality caused a loss of opportunity in the

past. (Im)
5) Unpunctual individuals cause a lot of stress to others. Give reason. (1m)
6) Why do very few individuals have the virtue of punctuality? (2m)
7) What steps will you take to lead a disciplined life? (2m)
8). Write a synonym for ‘opportunity’ on your own. (1m)

TI Read the text carefully and answer the questions: (10 X 1=10 Marks)

1. Overpowering prey is a challenge for creatures that do not have limbs. Some species like
Russell's viper inject poison. Some others opt for an alternative non-chemical method — rat
snakes, for instance, catch and push their prey against the ground, while pythons use their
muscle power to crush their prey to death. But snakes can't be neatly divided into poisonous
and non-poisonous categories.

2. Even species listed as non-poisonous aren't completely free of poison. The common Sand
Boa, for instance, produces secretions particularly poisonous to birds. So the species doesn't
take any chance — it crushes its prey and injects poison as an extra step.

3. Do vipers need powerful poison enough to kill hundreds of rats with just one drop? After all,
they eat only one or two at a time. While hunting, animals try their worst to kill most efficiently,
their prey use any trick to avoid becoming a meal, such as developing immunity to poison. For
instance, Californian ground squirrels are resistant to Northern Pacific rattlesnake poison.
Competition with prey is not the only thing driving snakes to evolve more deadly poison. Snakes
also struggle to avoid becoming prey themselves.

4. Some snake killers have partial immunity to poison. Famously, mongooses are highly
resistant to cobra poison, and with their speed and agility, kill snakes fearlessly. It would be the
death of cobras as a species, if they didn't evolve a more deadly poison to stop mongooses.
Poison has another important role. It's an extreme meat softener, specific enzymes break up the
insides of the prey. Normally, a reptile depends on the sun's warm rays to aid digestion. But I
wonder if we cannot use venom in our favor. In remote parts of India, local hospitality often
involves leather tough meat. I chew and chew until my jaws ache. If I spit it out or refuse, our
hosts would be offended, I swallow like a python stuffing a deer down its throat and hope 1

don't choke. If only I had poison.



Qn the- basis of your understanding of the passage, answer the following questions-
i) Species that are considered non-poisonous do have some amount of poison Give reasons. (2)

ii) How do pythons overpower their prey? (1)
iii) Which reptile cannot be put into poisonous ot non-poisonous categories? (1)
a) Russell Viper b) Rat Snake  ¢) Python dy Snake

iv) What is poison used for, by the python besides killing its prey? (1)

v) List out the challenges faced by snakes. (2)

vi. Which trick is used by the prey to avoid becoming a meal? (H

vii. Indian hosts get offended when__ , (1)
(1)

viii. A synonym forvenomis

SECTION -B (WRITING & GRAMMAR ) 20MARKS
ITI.At a traffic signal you have seen young kids asking for alms(money) or selling things. You feel

moved that such young kids are working. Write a letter to your friend telling him/her about your
(5m)

feelings and your plans to help them.

IV. Write a bio-sketch of the famous footballer Neymar based on the given information:
Name:Neymar da Silva Santos Junior

Date of birth: 5 February 1992

Place of Birth: Sao Paulo, Brazil

Position: attacking midfielder

Plays for : Brazil National Football Team

Club: Saudi Pro League al Hilal
Achievements: scored at least 100 goals for different clubs

highest-scoring Brazilian player in Champions League history.|

the all-time top goalscorer for Brazil

professional debut with Santos in 2009
Debuting for Brazil aged 18
79 goals in 128 matches

winning the Golden Ball.

Captain -the 2014 FIFA World Cup, for Brazil
first Olympic gold medal in men's football at the 2016 Summer Olympics

OR



Write o etory based on the given pictares and comtine it fuvther Flow does the deer repay the

pigeon’s kindnews? (5m)

7R, of the
hunter wil
Kill you!

Continue the story further...

V Do as directed:

A)Fill in the blanks with the correct form of the verb: (3x1m=3 m)
1. The sun (a) (rise) in the east and (b) in the west.(set)
2.1(a) : (forget) to add salt since I (b) (speak) on the phone with
my friend.
3. The doctor (leave) before I reached the hospital so I could not
(meet) him.
B) Find the error and write the correct word: (3x1m=3m)

3.Everyone always have a problem with the bus conductor.

Error Correction

4..It is always difficult when we loose a friend.

Error Correction

5.Thank you for your patients!

| Error | Correction

4



C) Fill in the blanks:
(41 m=4m)

6. T C - 4
The sack of potatoes (is/am/ate) lying on the road

7. Brea : i
Bread and buttetr (is/am/are) my favourite break fast

8 Cindere ' . " :
! derella was the (beautiful) girl in the hall (Degree af enmpariann)

o W } 5 M
). What 18 the time ~_your waltch? ( «’Ilfhy/ ﬁ'nm/nn}

101 havehurt  whileclimbing a tree.(myself/mine/me/herself)

Section C: Literature(40 M)

V1) Read the following extract and answer the questions that follow: _ _ (5x1=5m)
“] think it is one of his crazy jokes.”
a) Who is the speaker and whom is he referring to? (Im)
i) Ravi, is talking about the beggar
ii) The king, is talking about the wounded man
iii) Gopal is talking about the courtier.
iv) The courtiers are talking about Gopal
b) Why did the speaker say the above words? (1m)
c) Where did the conversation take place? (1m)
i) home ii)courtyard iii)court iv) the king’s court
d) Name the lesson that this extract is taken from and explain the incident in 30-40 words.

(2m)

"~ Or

and if you did not tell him when he was naughty, he was up to more

He had to be trained to be good
mischief than ever.
1. Whom is the speaker talking about? (1m)
b) Kari c)the python d) the crocodile
- (Im)

a) Golu
caker referto ?

2. What mischief did the sp
a) The tale of Golu’s long trunk

b) The tale of the missing bananas
c¢) The way Kari plays in the water
ches hold of Golu

‘him’ is talking about toa (lm)

d) The way the crocodile cat
3. The speaker compares the

a) A babyb)an elephant ¢) & d)a crocodile

n ant



4. Name the lesson from which this extr

explains the above sentence.

ng extract and answer the uestions that follow:

Vil) Read the followi
There's a dusty old window around at the side

With three cracked panes of glass.

[ often think there’s someone staring al me

Each time that | pass,
I'll peep through that window one day.”

i) Where’s the dusty old window?

a) in the garage, at the bottom
b) In the basement, at the bottom of the house

c) in the shed, at the bottom of the lane
d) in the shed at the bottom of the garden.
ii)What is the emotion that the poet is going through?

iii) The synonym of ‘cracked’ with reference to the poem is:
a) Laughing b)split c) insane d) unhinged

iv) Why is the speaker using the phrase ‘one day’?
Or

Pull your socks up;

Stand up straight

Say thank you;

Don’t interrupt

No one thinks you're funny

Take your elbows off the table
Can’t you make your own Mind up about anything?

i)Who is the speaker talking to?

a) the squirrel

b) the rebel

¢) 4 child

d) the child who is scared of something

act has been taken and narrate the i

ncident which

(2m)

(5x1=5m)

(1)

(1)
)

)

(1m)



11))What does ‘make your own mind ¢ mean? (1
a)to speak wisely "
b) to decide for oneself

¢) to talk wisely

d)to be quiet

i11) The antonym of ‘interrupt’ is: (im)
a) Bother  b)break in  ¢) contribute d) continue

iv) Who do you think the speaker is and what is the speaker instructing the person? (Zm)
VI Answer any four out of the following: (4x3m=12)

1) What are the values in the lesson ‘The three questions’?

i) Which were the two instances Ravi thought that elders did not practise what they preached?
i) Write a small paragraph on the squirrel.

1v) Why are rebels necessary? How does being a rebel help?

v) Why did the greedy old couple borrow the mortar and the mill? What did they do to it and why?
IX Answer any_2 out of 3 out of the following: (2x3m=12)

1)The queen ant is an important member of the anthill. Give reasons.

i1)What is the role of the master call? Describe it and the time it takes for the elephant to learn the

master call.

iii)How did Golu grow a nose?

X) Answer any one of the following in detail: (1x6m=6m)
1) “Rukku Manni was angry! thought Mridu with a shiver. She wouldn’t be so upset if she

knew....”
Imagine that you are Mridu from ‘A Gift of Chappals”. Write a diary entry keeping the above

incident in mind.
Or

Write a character sketch of the good old man from ‘The Ashes that made the trees bloom™.

XI) Answer any one of the following in detail: (1x6m=6m)

1) You have read the lesson ‘The Tiny Teacher’ and are inspired by the tiny ant. Write a diary entry

about the qualities that you want to emulate and how are you planning to implement the same in

your life.

Or
Write a character sketch of Kari the elephant from ‘Bringing up Kari’

7
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Half yearly Examination- 2024-2025
Subject: Mathematics

Date: 3/10/2024 Marks: R0)
Class: V11 Reading time: R.00-8.15am
No of printed sides: § Writing time: 8.15-| 0.45am

CRA T TI
1. This Question Paper has § Sections A-E,
2. Section A has 20 MCQs carrying |1 mark each
3. Section B has S questions carrying 02 marks cach.
4. Section C has 6 questions carrying 03 marks cach.
5. Section D has 4 questions carrying of 05 marks.

6. Section E has 3 casc based integrated units of assessment (04 marks) with subpartsof the values

of 1, 2 and Imarks each respectively,

SINDHI HIGH SCHOOL,, BENGALURUY

— ]

7. All Questions are compulsory. However, an internal choice in 2 Qs of 2 marks, 2 Qsof 3 marks

and 2 Qucstions of 5 marks has been provided.

2. [Find gofa day.

Sl Section A Marks
No ‘
| 8 (— D) x(=1)x(=1)x..... 10 times is equal to: I E
a) l b) -1 c)lor-| d)0 f

l !

|

E

a) |2hours b) 13hours c) 14 hours d)1Shours
3. The simple equation that satisfies x = 8 is: 1
a) 3x =36 b)3x=24 . c¢)2x=24 d)8x=0
Let x, y, z be three observati'p'hs, The mean of lhcsg obscrvations is: l
4. ‘
xXXyxz x+y+z
(a) 3 (b) e
gey=z e i
(c) 3 (d) 3
j -] . ‘et |
3, In an isosceles triangle, the base angles are cqual to 50°. Thoc veriex angle is:
a) 45° b) 80° ¢) 74° d) 85
ther.

6. |Rakesh has 10 one-rupee coins of similar kind. He puts them exactly onc on the 0

What shape will he get finally?

a) Cone b) Cylinder  c) Sphere d) Pyramid

|



. In the given figure, Iin_c-‘swl and m intersect each other at a point. Which of the
following is false?
a)za=¢b b) zd=z¢ ¢) za+ 2d=180° dy za= zd
! X |;i'..’l—01‘i;1| representation of 3-13' s
T AR N |
i
| |
| |
9. Manish deposits 2550 in his bank account and withdraws Z 1500 from it, the next |
day. Find the balance in Manish’s account.
a) 2000 b) 2 1500 ¢) 1000 d)% IQSO
l 10. | Multiplicative inverse of E is: '
a)0 b) | c)% d)-;-
| et
{11 |The standard form of 8,19,00,000 is: |
| a) 819 x 10° b) 8.19 x 107 c) 81.9 x 10° d)0.819 x 108
!l?" If the LHS and RHS of an equation are interchanged, then I
a) The equation remains the samc.
b) The value of the variable becomes half.
c) The value of the variable bevomes double. 3
d) The value of the variable becomes z€ro. :
13.  |Angles which are both supplementary and vertically opposite are: 1
a) 95°, 85° b) 90°, 90° ¢) 100°, 60° d) 45°, 45°
14| The value of 10° x 9" s: ‘ :
] a) 9000 ~__b)9o ¢) 1000 d) 100 _
15 [Outof 5 brands of chocolates in a shop, a buy has to purchase the brand which is !
most liked by children. What measure of central tendency would be most appropriate
if the data is provided to him?
a) Mean b) Mode ¢) Median d) all the three
i :

If (TSU) +x = |, then x i-s‘cquu-l 1o
a) 1 b) 50 c)-50 d) 10

2




17 | Three cubes cach with 2 om edge are p

laced side by side to form a cuboid, Its length

will be:
a) 6 cm b) 2 cm c)2cem d) 8¢m
I8 | Angle between South and West directions is: o e —
a) Acute angle b) Obtuse angle
¢) Right angle d) Straight angle
Direction for questions 19 & 20: In question nmbers 19 and 20, astatement of
Assertion (A) is followed by a statement of Reason
(R). Choose the correct option.
T P —

. 3 . 7 o Blas
Assertion: Apala ate ) of an orange. The remaining orange was eaten by Meenuy.

Then % part of the orange was caten by Meen,
: 3_2

Reason: | — $°F

a) Both Assertion and Reason are correct an

Assertion

b) Both Assertion and Reason are ¢

for Assertion.

¢) assertion is true but the reason is false,

d) both assertion and reason are false.

d Reason is the correct explanation for

orrect and Reason is not the correct explanation

—

oy 8 2
b) Divide 3; by 25.

20 |Assertion: The power of a number says how many times to use the number in a
multiplication.
Reason: (—7)*= 243
a) both assertion and reason are correct and reason is correct explanation for !
assertion '
b) both assertion and reason are correct but reason is correct explanation for assertion 5
¢) assertion is correct but reason is false i
d) both assertion and reason are false 3
SECTION- B
21. | Draw the net of: i) cube _
ii) cylinder s
(2. |a) Solve: 3x—5= 16
OR
b) Solvc:f+8= 10
23. In the figure, find the value of y.
57 il
Jy
Pilha ool NN
24 1a) Find the product of 32 and 2.




’ 25.

3 Hmi.'-:"ia_np'l_if‘_\-: ~30 4 (=24) = (~25) - 15

out of 100 obtained by the group of students in the science lc:’i-l'_i_ri_llh'\_éhiﬂ
d 78. Vind the:
| by the studente

The marks
Jags are 90, 56, 95, 85, 39, 48, &1 an
i) Highest and lowest marks obtainet
i) Range of the marks obtained

1 SECTION -C

OR
(-2)] + 1(=12)¥(-3)]

at the rate of R13.75/kg. How much should

1b) Simplify: [3 % (=5) x (= 10) X
[a) Harmeet purchased 3.5 kg of potatoes

he pay to the shop keeper?
'* on

2

ng 7.5 kg. If the total weight of all the

LM There are some bags of rice each weighi

lbags is 682.5 kg, find the total number of bas.

| ' - .
| Express each of the following as a product of prime factors is the exponential form:

729 x 625

If the sum of x and § is divided by 2, the result is 29. Find the number.

Name the solids that have:
(i) 1 curved surface

(ii) 4 faces

(iii) 6 faces

6¢€

The runs scored in the cricket match by the 11 players are as follows:

5, 15, 80, 120, 50, 100, 10, 15, 8,10and 15
Find the Mean, Mode and the Median of this data

SECTION-D

a) Write down a pair of integers whose
(i) sum is (—3)

(ii) difference is (=7)

(iii) difference is (—1)

(iv) sum is 0

(v) product is (—2)
OR

b)Ifa=(=5),b=10cmandc=2, verify distributive propérly of multiplication
over subtraction.

ows the average intake of nutrients in calories by rural and

The following table sh
n data, draw a

urban groups in a particular year. Using a suitable scale for the give
double bar graph to compare the data.

Food stuff Rural urban

Pulses 35 49

Leafy vegetables 14 21

Fruits 51 85

Milk 35 66




34,

36

h j“ihd'l-hr valuee of the ang

15,

det %, v and 7. in each af (he fallowing:

e J«( . W IS 2

(il

Wurrwyis

yenisy: B
Lo

OR

2 watvais

b)Simplify (using laws of exponents). ————:—

a) Simplify (uging laws of expor

———— SECTION-E

marbles of different colors and different sizes. He an
g with the marbles on every Sunday morning. He gives I2

Raju had 44
had the habit of playin
marbles to Rahul and asks following question.
a) Find the fraction of marbles Rahul has. (express in simplified form).
b) Convert the fraction obtained in the above question in decimal form. (up to two
decimal places)

OR

b) If the total cost of all 44 marbles is Z110. Find the cost of one marble.

d his friend Rahul

|
i
|
(2
i

|

{l

¢) Find g of 44.

37

Aisha went shopping and bought a notebook and a pen. The notebook costs 3 times

more than the pen. She paid a total of 96 for both items.
a) Let the cost of a pen be (x). Write an expression to represent the cost of the

notebook in terms of (x)
b) Write an equation for the total cost of the notebook and the pen combined. Find

the value for (x)?
OR
if the cost of a notebook is T3 more than twice the cost of a pen

b) In another shop,
for the total cost of the notebook

and the total amount is ¥96 then write an equation

and pen. Find the value for (x)?
c) If she purchases only pens for I3 each, how many pens can she buy for ¥99?

52

——

38.

In a class teacher drew two parallel lines ‘r’ and ‘s’ cut by the transversal ‘t’ and
asked following questions. -

a) Name two pairs of alternate interior angles.

b) Find 26 and 22(Mention the property used).
OR

b) Find £5 and 21(Mention the property used).

c) What is the sum of 23 and £5?

3]
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GENERAL INSTRUCTIONS:
i. This question paper consists of 39 questions in 5 sections.

ii. ANl questions are compulsory. However, an internal choice is provided in some
questions. A student is expected to attempt only one of these questions.

iiii. Section A consists of 20 objective-type questions carrying 1 mark each.

iv. Section B consists of 6 Very Short questions carrying 02 marks each. Answers to
these questions should be in the range of 30 to 50 words.

v. Section C consists of 7 Short Answer type questions carrying 03 marks each. Answers
to these questions should be in the range of 50 to 80 words.

vi. Section D consists of 3 Long Answer type questions carrying 05 marks each. Answers
to these questions should be in the range of 80 to 120 words.

vii. Section E consists of 3 source-based/case-based assessment units of 04 marks each
with sub-parts.

S! QUESTIONS Marks
nro.
SECTION A ‘,l
] \
Sclect and write the most appropriate option out of the four options given '
for each of the questions 1 —20.
1 Choose the correct order of terms that describe the process of nutrition in i1 lﬁ

ruminants.

(a) Swallowing— partial digestion —schewing of cud—complete digestion

(b) Chewing of cud — swallowing — partial digestion — complete digestion
(c) Chewing of cud — swallowing — mixing with digestive juices — digestion

&d) Swallowing —chewing and mixing — partial digestion — complete
igestion




e
—————
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Which animal has a similar teeth arrangement?
(a) Deer

(b) Dog
(¢) Buffalo
(d) Rabbit

r’:'—‘~—- — -

A baby passed watery stool for two da

. ys. The doctor suggested oral rehydration
solution (ORS) for the baby.

How would the ORS help the baby?
(a) It would help in digesting food.

(b) It would kill the bacteria that caused the infection.
(¢) It would prevent water from moving out of the body.

(d) It would replace the fluids and minerals lost by the body.

Which of the following statements is/are correct?
(1) All green plants can prepare their own food.
(11) Most animals are autotrophs.
(iii) Carbon dioxide is not required for photosynthesis.
(iv) Oxygen is liberated during photosynthesis.
Choose the correct answer from the options below
(a) (1) and (iv)
(b) (i1) only
(c) (i) and (iii)
(d) (i) and (ii)

Which mineral is essential for the synthesis of proteins in plants?

(a) Potassium

(b) Nitrogen

(c) Phosphorus

(d) Calcium -

Why do farmers add manure to the soil?

(a) To increase water absorption
(b) To add nutrients to the soil
(c) To prevent soil erosion
(d)To remove weeds




l wmeh of the ﬁ'uﬂnmmg je tont & fomrest troedhwes?
[

() Rubbey l |
(8) Senling wne
(©) Kerosene
! (i l‘l‘;'(n.'m"r' ;
T Ihe gae we vee in the kiteh T3¢ called Tame frad potealenny gae (T PO In thes t i
] evlinder, it evieie ne n Heptrid. Wheny 1 commae ot feams thie Avlindisy i e nmes 4
l gne (change A) then it M (¢ haitigre 13y The follow ing aratement is eslated 1
| these chanpes, Choeee 1he conreet ome
|
| LPG
|
|
1
(a) Process A is a chemical change
| (b) Process B is a chemical change i
(¢) Both Process A and B are chemical changes, |
(d) None of these is chemical change
) The subatomic particle revolve around the nucleus is I
(a) Atom. |
(b) Neutron |
(c) Electron. 1
(d) Proton !
'
10 Which of the following changes is accompanied by sound? K
(a) Photosynthesis i
(b)Spoilage of food P
(c)Explosion of fireworks
(d)None of these _
11 Change in size and shape of a substance is a: l
(a)Chemical change
(b)Physical change
(¢) Cyclic change
(d) None of these
12 | The maximum number of electrons that can be accommodated in M orbit 1

(a)8
(b)12
()18
(d)2




13 | We recelve heat from bonfire by

B I

(a) Conduction
(" Convection

(c) Radiation

—
(3
?

(d) Light B
Which type of {iEE;I:gthﬁ;g at night at coastal areas
(a) Sea breeze

(b) Land breeze

(c) Solar breeze

SN

(d) Lunar breeze

Which of the following will be observed if an apple slice is left exposed to air?

(a) It undergoes oxidation and become brown in colour
(b) Appearance of brown colour on the surface of ap
chemical reaction between air and enzymes

(c) Both the above are correct

(d) None of these.

ple slice is caused by a

16

The atomic number of Silicon is
(a)l2
(b)13
(c)14
(d)15

20, a statement of Assertion is

Note: In the following questions 17 to
Choose the correct answer from the

followed by a statement of Reasoning.

following options.

(a) Both assertion and reason are correct statements, and reason is the

correct explanation for assertion.

(b) Both assertion and reason are correct statements but reason is not the

correct explanation for assertion.
(c) Assertion is true, but reason is false.

(d) Assertion is false, but reason is false.




Assertion (A): Dipestion in amoehs i¢ intracellufay
Reason (R): In the food vacunle the food becormes tra

| the action of digestive juices seereted inte foood vaey
18 | Assertion (A): D ti 7

| Ak DDestruction of foreet a wildly in b _

l dvern and wildlife reculted in loge of eultural

pred and is digested by
wle.

Reason (R): The comeetvation of forests amvd

! wildlife i4 sgdentis
better quality of life et atiec

| Assertion (A): Temperature of boiling water can be measured by a clinical
' thermometer. '

Reason (R): The range of a clinical thermometer is from 35°Cto 42°C.

o —— T ————— —
2( 1 Assertion (A): The number of protons and neutrons is atomic number. '

|
L Reason (R): The mass number is the sum of protons and neutrons.

I Section B
-

a) We cannot survive only on a raw, leafy vegetables/grass diet. Justify the
statement.

-

b) You were blindfolded and asked to identify the drinks provided in two

ldi.ffcrent glasses. You could identify drink A as lime juice and B as bitter gourd
Juice. How could you do it in spite of being blindfolded?

OR

Ram took some boiled rice in test tube A and Giri took some boiled and chewed
rice in test tube B. Both of them added a few drops of iodine solution into the

test tube as shown in the figure .What color change would they have observed
and why?

22

We need to conserve forests in regard to protecting animals. Give a reason.

23

Draw a neat labelled diagram of stomata.

24

A laboratory thermometer A is kept 7 cm away on the side of the flame w.hjle a
similar thermometer B is kept 7 cm above the flame of a candle as shown in
figure. Which of the thermometers A or B will show a greater rise in
temperature? Give reason for your answer




OR

Boojho has three thermometers as shown in Figure. He wants to measura the
10|n|“'cmh_|r(- of his body and that of boiling water. Which are the thermometers

that measure accurately, should he choose? justify

|

25 | Paheli does not have a night lamp in her room. She covered the bulb of her room
with a towel in the night to get dim light. Has she taken the right step? Give one
reason to justify your answer

26 | Complete the following reaction

Ca(OH)+ CO; - A +B
OR
What would be the colour of a moistened red litmus paper when it is brought in

contact with the ash produced after the burning of magnesium ribbon in air?
Mention the nature of the product also

Section C

27

ofter s yeor

A.Observe the diagrams and answer the following questions.

i. What is the name of the dark substance formed at the bottom of the pit?

ii. How can she use the dark substance most effectively?




B. The table lists some animals of a forest and they eat.

Frog
 ske R
. S R -

Complete the foad chain with the animals listed in the table.

OR

“Forests are our lifeline.” Justify the statement.

18

a) Identify the plant A in the given picture.
b) Explain the nutrition exhibited by it.

29

A. Classify the changes involved in the following processes as a physical or
chemical change

a)Photosynthesis

b) Cutting of nails

¢) Burning of coal

B. Define crystallization. Is it a physical or chemical change?

30

Write the chemical formula of the given compound using the criss-cross
method.

a) Potassium nitrate b) Ammonium sulphate ¢) Sodium bicarbonate

OR

a) Draw the structure of an atom. .
b) Mention the Latin name of the following element: Lead and Gold.

LI




31

A ;ﬁ@xl s cooled down after
' ) Name the mode of transfer of heat in which medium is not required.

cello tape or a plastic covet when not in wee”

) Can we vee the same fuse in a geyeer and a tefevidion set? Faplain

OR

(a) If you cafty & compass along a cable leading from a plug point to an
appliance, the needle deflects what it shows?

(b) How can the strength of a magnetic field be increased?

————

removing it from the fire justify the statement.

¢) It is preferred to use two thin blankets rather than one thick blanket. Explain

the reason.

1 a) Why do we cover plug pin tolet which are within the reach of children with

You have two dry cells, one is dead and the other is working. How to know which
one is dead and which one is working?explain.

. -

Section D

34

a) Label the parts of The Human Alimentary Canal given below.

b). ‘A’ got her gall bladder removed surgically as she was diagnosed with stones
in her gallbladder. After the surgery, she faced problems in digestion of certain
food items when consumed in bulk. Can you tell which kind of food items would
they be and why?
¢). Name the parts of the alimentary canal where
(i) vndigested food is stored
(ii) digested food gets absorbed
(ii1) digestion of starch starts
(iv) digestion completes

OR

What is an amoeba? How does it move? Explain digestion in amoeba in detail.

35

a) Can an electromagnet be used for separating plastic bags from a garbage
heap? Explain.
What is MCB? What is its Function?

Name two electric devices for each where




(1) 'I"]wn}i’mmghéﬁ_évi of curtent is used

(i1) The magnetic effect of current is used.

36 | a) Dingrammatically represent the following elements and write their electronic | 5
configuration.
1)Phosphorus i1)8odium
b) Find the valency of the undetlined elements or tadicals in the given
compound
i). CrCly i), Mg(OH)
OR
1. Iron shows the variable valency. Explain by forming compounds.
2. Anelement has 5 protons and 6 neutrons. Identify the element and find
the mass number.
Section E
37 4
Nitin's father's car got scratched in an accident. After a few months, he found
that the scratched part had got rusted. Nitin asked his father about the rusting of
the car.
a) Why did his car get rusted? Write the equation also.
b) What do you mean by rusting of iron?
¢) Mention any two ways to prevent rusting.
OR
¢) Stainless steel does not rust. Give a reason
38 Evaporation allows plants and trees to take water from the soil and release it into | 4
the atmosphere. This evaporating water condenses into clouds, which ultimately
rains. In forests, a large number of trees can be found in a small area. As a result,
more water is absorbed by the soil and released into the atmosphere. As a result,
rainfall increases. As a response, more water seeps into the forest floor and soil,
raising groundwater levels.
a) Forests prevent floods. Comment.
b) Forests are called lungs. Why?
¢) What is a canopy?
OR
¢) What is the Branchy part of a tree above the stem called as?
39 4

Some pins are stuck to a metal rod with wax and a lighted candle is kept below
the rod as shown in the diagram below




a) Which one of the pins will fall off the metal rod first? Give a reason.
b) The houses in Oman are painted with light colours. Why?

¢) The handle of a pressure cooker is covered with thick plastic. Explain why.
OR

¢) What is the difference between conductors and insulators of heat?
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General Instructions:-

i) Question paper comprises six sections- A, B, C, D, E and F. There are 1%

questions in the question paper. All questions are compulsory.

ii) Section A-From question 1 to 20 are MCQ of 1 mark each.

iii) Section B- Question no 21 to 25 are very short answer type questions carrying 2
marks each.

iv) Section C-contains question no 26 to 31 are short answer type questions carrying 3
marks each.

v) Section D-Question 32 to 34 are long answer type questions carrying 5 marks
each.

vi) Section E-Question 35 to 37 are case based questions of 4 marks each.

vii) Section F-Question 38 is map based question carrying 5 marks with two parts,
38 a from History (2marks) and 38 b (3 marks) from Geography.

viii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such
questions have to be attempted.

Section -A 1x20=20 |
1. | A ritual called Hiranya Garbha was considered as the ‘ 1
a) Rebirth of the sacrificer as 'Kshatriya'

o~ | b) Sacrificial Performance.
c) Rebirth as a Brahmana
d) Rebirth to be a Vaishya

2. | Read the statement and choose the correct option. 1
Assertion (A):Babur laid the foundation of Mughal empire in India.
Reason (R):Babur was attracted by the tales of India's wealth and planned

an expedition to India.

a) Both A and R are true and R is the correct explanation of 'A'.

b) Both 'A' and 'R’ are true but 'R’ is not the correct explanation of 'A".
c)'A'is True but 'R' is False.

d)'A' is False but 'R’ is True.
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4.

g,

| Which of the following is not the meaning of ‘forcigner’ in the past?
a)Stranger b) Pardesi
| ) Indigenous d) Ajnabi
[ Tribhuvana- Chakravartin stands fot

a) Great king 1) 1 ord of the three wotlds

¢) The creator d) The Protector

| Find the incorrect statement

a) Ranks and salary of the mansabdars were determined by a numerical

| value called jagirs.
[ 1) Jaina merchants constructed the temples in Delhi.
| ¢) Humayun was defeated by Sher Shah Suri.
' d) Akbar's revenue minister was Todar Mal.

1 Why do historians have {0 be careful about the terms used in the past?

' a) Because they do not know the meaning of the term.

! b) Because the terms may have more than one meaning.
| ¢) Because the terms meant different in the past.

d) Because they were afraid of the rulers.

W Match the following. ;‘
! (1) Core (1) Earth’s surface 'i
i (2) Minerals (i1) Has definite chemical composition I
‘ (3) Rocks (iii) Used in medicines and fertilizers.
j (4) Clay (iv) Innermost layer
i' a)l-iii, 2-ii, 3-1, 4-iv b)1-iv, 2-iii, 3-ii, 4-i
i ¢)1- i, 2-iii, 3-ii, 4-iv d) 1-ii, 2-iv, 3-iii, 4-v
8. | The highest waterfall in the world is in
a) Venezuela  b) New Zealand  c) Africa  d) Australia
9. | It protects us from the harmful rays and scorching heat of the sun.
a) atmosphere b) eco system ¢) solar energy d) lithosphere
10. | Sudden movements in the earth's interior are caused due to
a) Sudden forces b) Endogenic forces
¢) Circular forces d) Exogenic forces
11. | On the celcius scale the water freezes at
a) 100 °Celcius b) 98.4 °Celcius
c) 0 °Celcius d) 100 °Faranheit
12. | Which is not a natural ecosystem?
a) Desert b) Aquarium c) Forest d) Plains
13. | Masses of droplets found at high altitudes are known as
a) Mist b) Rain ¢) Clouds d) Thunder
14. health facilities are owned and controlled by the
government.
a) Private b) Urban ¢) Public d) Rural
15. | Diseases that are spread from one person to another in many ways is

called
a) Germs disease b) Epidemic
¢) Non communicable diseases d) Communicable diseases

2
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16. | Firet state in India to introdoce e s dav mneal ceheme ie
| a. Maharashtra b West Bengal ¢ Patna d. Tamil Nadu
. 17, India 18 the lipgpe €1 prresdioe o4 ¢ £ snidieiree m the oy l. 1
| a) Second by Thitd  ¢) Seventh 4) Fifth ?
"3.- A party whase M1 A& have woh fote ¢ o Balf B arpmber of the t 1
conalituencies 1n o e can e eard to fup ify A .
- |a) minortl by) coalition ¢y majority 4y appoaition 'i!
19, | Common forms of ineguality in india are the inequality haaad an cadte i -
| gVEiem and
‘__ 1, a) Deonomic status b) 12ducation status ¢) (render d4) Religion
20. According 1o . morea million children die every year in | {
! [ India from preventable infections.
[ |ayuncer bwHO __aIME d) UNESCO
[ P —— — Section-B_______ 29510
. 21. | What were some of the achievements of the Chola dynasty? :
'!—"2. | Name the ruler of Delhi sultanate aﬂér_ll—im_rﬁ-igﬁ.”\e\_f‘f\_zﬁrﬁiﬁﬁa}i' §1;2:1ﬂ L BE 3
|  thought about this ruler? I -
_2-_3_'“ Why do buildings collapse due to earthquake ? Write any 2 points. i :
24. | ' Improvement in water and sanitation can control many dise.ases—'d.—*_amf_ﬂnzﬂ—y
Explain with the help of examples. _L
25. | Why universal adult franchise is important in a democracy? L 2
| —
Section-C 3x6=18
26. (1+2=3)
e~ \
|
|
Q. Identify the given picture and write a short note about Ain -i-Akbari.
I : —
127. | What are the difficulties historians face in using manuscripts? 3
28. | How are the beaches formed? 3
v s M
29. | Plants and animals depend on cach other. Give reasons. 3
30 | Who becomes a Chief Minister? What is his/her role in a state? 1+2=3) |
31. | Establishing equality in a democratic society is a continuous struggle. 3 !
Explain. /
Section-D | 5x3=15 |
32. | Why did the Mughals emphasise their Timurid and not their Mongol 5
descent? I
3



' " or
How were the debates with the religious scholars important in the

”
formation of Akbar's ideas on governance:
How does the increased volume of carbon dioxide effect thc e ﬁrth 8

weather and climate?
OR

Give an account of the different layers of the atmosphere.

34, l \’\11\ v should the decisions taken by the Chief Minister and other ministers

3
.': ) be debated in the Legislative Assembly?
OR

i
* _] Explain who an MLA is and how is he person elected? -
!
|
l
'\
|
!

Section-E P———

zli 1 , _
' Delhi first became the capital of a kingdom under the Tomara Rajputs.It
was during this time that Delhi bacame an important commercial

{ centre.The Delhi sultans built many cities in the area that we now know
!'as Delhi.Histories are known as Tarikh.The authors of tawarikh were

learned men who recounted events and advised rulers on governance
emphasising the importance of just rule.

35.1)Who defeated the Tomaras in the 12th century ?
35.2) Name the coins minted during the 12th century in Delhi ?

35.3) What advice did the tawarikhs give to the rulers for governance?

[

} 36. | Read the extract and answer the following questions.

Lava is actually fiery red molten magma coming out from

the interior of the earth on its surface. When this molten

lava comes on the earth’s surface, it rapidly cools down

and becomes solid. Rocks roll down, crack, and hit each other and are
broken down into small fragments. These smaller particles are called

sediments. These sediments are transported and deposited by wind, water,
etc. These loose sediments are compressed and hardened to form layers

of rocks. These types of rocks are called sedimentary rocks.

36.1) Name the type of rocks formed by the rapid cooling of lava on the

earth's surface.
36.2) Give an example of igneous rock.
36.3) What do sedimentary rocks contain?

.

Read the extract and answer the following questions.
7. | One of the most important aspects of the public health system is that it is
meant to provide quality health care services either free or at a low cost,
so that even the poor can seek treatment. This has to be organised by the
government with the participation of people otherwise it is not effective.
For example, when taking up a campaign to see that mosquitoes do not

breed in water coolers, rooftops, etc., this has to be done for all houses in

4




the aren. The government must safegudtd the Right to [ ife of every

person. 1f a hospital cannot provide timely medical treatment to a p'nr-mn_

it means that this protection of life is not being given

37.1) Name 2 diseases which a public health care eystem anght to fight
apAINS!

37.2) According 1o the constitution what is the primary duty of the
government ?

37.3) What does the Apex court has to say about the welfare of the

- people?

2%}

8. SectionE
[ 1. 1dentify the 2 dynasties on the given map of India.
l_ I1. Draw and label a neat Diagram of 'A Volcano'.
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A. Fill in the blanks 5x1=5
1. The base of the hexadecimal number system is_
- A is a graphical programming software based on blocks.
3. The concept of 0 was given by
4. In programming, repeating a liﬂe or block of code is called ,
5. is the shortcut key to paste copied file/folder.
B. Multiple Choice Questions 5X1=5
1. The role of a compiler in a program is to
a Transl.a;tte coded line by line b. Translates the entire program at once
c. Executes code immediately d. Converts code to assembly language
2. What is the result of adding 1 and 1?
a. 10 withno carry b 1 witha carry of 0 c.Owithacarryof 1 d. 11 with no carry
3. Which of the following is a correct variable name? :
2 204year b Year2024 o Year 2024 | 4.2024 Year
4. The process of assigning value td a variable before it is being used is called:
a. Initialization b. Operation c. Realization d. None
/<. How many digits are there in octal number system?
a Four(0-3)  b.Eight(0-7)  cTen(0-9) - d. Sixteen(0-9 and A-F)
C. Give one Word for the following 5X1=5
1. Itisa versatile photo and video cdi-ting application.
2. Pocket-sized éomputcrs for calls, texts and apps.
3. A block of code consisting of several steps that lead to a particular action.
4. An unexpected problem in the program. S
5. Itis the brain of a computer.
D. Higher Order Thinking Questions 2X2=4
1. Convert the decimal number 47 to Binary equivalent
2.

Find the 2s complement of the binary number 1010110
g b _ o :

———————




